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nature
wildlife
forest
hunter
mountain
plain
lake

gulf
plant
road
aquarium

human

injured

endangered

alive
amazing

average

appropriate

simple

orally
especially
hopefully

recently
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relatives
intonation
attention
strategy
schedule
report
idea

rule
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put out

die out

cut down
pair up
take care of
hurt
destroy
protect
save

consider

Verbs
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mean

plan

divide
capitalize
match
circle
unscramble
hope
increase

follow
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increase # decrease
put out = extinguish
die out = to become extinct
take care of = look after
destroy # build
cut down = fell

wild # domestic

alive # dead
appropriate = proper, suitable
schedule = program
idea = opinion , view
especially = particularly
instead of = rather than

simply = just, absolutely

give/ make/ submit a report
on a voluntary basis

the endangered animals
protect nature

natural home

nature and wildlife

go hunting

living thing

life span

Collocations
Y
ool ()5 common problems =l oWiw
aldbsgls y5b 4 pay attention to L O3S Axg
(2),8l) ;s pyee 0 Slls>  center of attention 495 ol

0oy edadls canl 5| medical attention
oKy  to be based on

Uiy ol g canl follow the rules

(=1359)) 6y88 (g wlaladl
e ool 0092

O3 Sor 098
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oa3) o990 feel safe 0955 ool b
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live v 08 05 (53,5 Sa5y  He lives in Tehran. o’
9

life n Sy life on earth %

live adj 05y sl ¢ pudiine g 0035 daliy (.- 9 920l yeuineli)  a live football match

9 J=d 5l am aSl 09 s0 )15 4 ol 5l LB cio oyl
alive adj 003 s 015 Sy, & alo 5Ll s Ygome

The soldier was alive.

living adj 0 |l (39250) 0 (3L « asd) 39y 50,5 4 el 51 L8 cio 0l
A (o) Lslee ,liel) make aliving Masl o ?W

living n oobee el alig calys o
What do you do for a living? S9ys0,8

sl o 4 555l )0 OlalS ol iz sl gxe 40 Hewlg> 1)

average n Ly o Sl ¢ Joss save 395 e (pols el
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mean n Jome 9y« Bayb calass (02 59) safe n Bydiogls
mean adj wlogbCup iz match n oS
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)In any relationship, it helps topay ________ to each other’s needs.
(1) destination ()2) attention ()3) attraction (4) vacation

) Water the . ____ twice a week, preferably in the mornings.

1) plants ()2) plans )3) planets (4) planes
Accordmg to this evening’s weather , tomorrow will be stormy.

1) report (2) temperature (3) degree (4) station

OJOMONO,

4 ) Since retiring from the company, she has done ._______ work for a charity.

1) addicted (2) comfortable (3) voluntary (4) nervous
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@ A glass container in which fish and other water creatures can be kept is called a/an .
(1) observatory (2) schedule (J3) aquarium 4) lake
@ About a dozen school children helped .~ trees in the park.
1) practice (2) plant 3) play 4) pump
Q/) The country is changing very quickly and many of the old traditions are ._______.
1) getting out (2) dying out (3) taking out (U4) putting out
Q) She decided to give the ._______ orally rather than in writing.
1) organ (J2) report J3) blank (4) quality
Q) Firefighters have been called to .. __ the fire in the city center.
1) die out (J2) watch out 3) help out (4) put out
1(3 I think we should . ___ the costs equally among us during the journey.
(1) shout (2) distinguish J3) divide (4) forgive
@ As the president of the company, I’m pleasedto .. __ that the project is going well.
1) improve (J2) report (3) recite (4) appear
@ Milk is cheap now forone reason; there is too much of it available.
1) average )2) famous 3) simple (4) enough
@ It has been said in this piece of medical news that the drug is designed to be taken ..
1) dangerously (U2) emotionally 3) orally (4) mentally
1£ Inever feel when I’m being driven by my wife.
1) close ()2) safe ()3) suitable (4) dangerous
Qs/) Forty percent of all types of wolves in Britain are highly .
(1) amazed ()2) ashamed 3) endangered (4) employed
15 You need to be able to communicate both .. __ and in writing.
1) orally (2) naturally 3) simply (U4) suitably
12 The children were found . and well after being missed for several days.
1) amazing J2) alive (J3) appropriate 4) alike
@ Fishermen are always at the mercy of the forcesof _______.
1) power (2) wonder (J3) nature (4) pepper
15 There are zebras, lions, and gazelles on the open .. __ of east Africa. That’s really wonderful.
1) planets (2) periods (J3) powers (4) plains
@ The number of jobless people in Iran has risen by a/an of 15 percent over the last 5 years.
1) attention (J2) schedule J3) element (4) average
@ Personally, I didn’t consider his comments at the time.
1) addicted (2) experienced (J3) appropriate (4) interested
2‘5 I can’t understand why they chose him . __ you — you are much better qualified for the job.
(1) afraid of (J2) instead of (3) tired of (4) in terms of
@ After a week lost in the mountains, all the climbers turnedup ...~ and sound.
1) sick (J2) sorry 3) simple (4) safe
@ I had difficulty .. __ the story because there were so many different characters.

1) dividing (2) capitalizing 3) collecting (4) following
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@We need to decide soon what marketing .~ we should follow for these new products.
1) knowledge (2) strategy (J3) laboratory (4) medicine
QG/) The engineers expect the building work to be completed ahead of ..
(1) schedule ()2) quantity (J3) product (4) certainty
@ The two countries have united against their .. __ enemy. They’re now fighting in the same field.
(1) common ()2) voluntary (J3) average (4) appropriate A
28/- Ididn’t to upset her — it was just a bit of fun. -_;;)
(1) compare (J)2) solve (J3) mean (4) translate ;3
@ Studies show that if a working environment is pleasant, productivity . __. %
1) respects (J2) bursts (J3) decreases (4) increases
QO/) He’s been resting today,so .. he’ll be feeling better tomorrow.
1) hopefully ()2) unluckily 3) kindly 4) politely
QL) The boss says sheis still .~ my request for a raise.
(1) meeting (J2) inspiring (3) considering (4) discovering
3; He wanted to be the center of ________ , and he was.
(1) attraction (J2) information (J3) attention (4) suggestion
Q:"/) Despite her need of medical . __ , she insisted on staying in the hotel.
(1) attention (2) intonation ()3) obligation (4) invitation
Qﬁt) Parents of young children often became depressed, and thisis . __ true of single parents.
1) voluntarily (J2) recently 3) luckily (4) especially
35 I think it would be . __ for you to invite her to a party so soon after her husband’s death.
(1) inappropriate (2) unhealthy (J3) unique (4) involuntary
35 Wedonot this film suitable for young children. It’s made for teenagers.
1) scramble (J2) consider (J3) improve (4) signal
@ Damage to the Ozone layer has caused a change in weather ...
1) programs (J2) problems (J3) patients (4) patterns
38/- There is an unwritten .~ that you should never call an actor before 10 a.m.
1) value J2) rule ()3) grave 4) light
35 The work needs to be completed within a limited .. __ of time.
1) period J2) hour (3) orbit (4) order
QO/) If you do not warm up before taking exercise, you risk . __ yourself.
1) imagining (2) injuring )3) defending (4) protecting
e
1 8 15 22 29 36
2 9 16 23 30 37
3 10 17 24 31 38
4 11 18 25 32 39
5 12 19 26 33 40
6 13 20 27 34
7 14 21 28 35
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. I.Articles (Gu)si8gy>)  (posdlwl gup) :
A/2N (arol a5 5,>)
S )5w 5)9ba gyasan
> an apple, an easy lesson, an organically grown apple
an elephant . u, 0, €, i, a :(vowels) ,lslos Cag,>
T Slolas g,
> a car, a tall boy, a universally known fact
acar ) b, c,d, f, ... . :(consonants) oo o g,
E lao o B>

o il Ho—iwlg>

> a university, a unique experience

{» an hour, an honest man, an MP3 player

oelplo (oyls cuenl B> slosasan jleolacwl jo !

Look! There is a cat on the wall.

sl o0 o)Ll o b cyulsl (sl &S ol (slys

A boy and a girl were sitting on a bench. The boy was smiling but the girl looked angry.

the (gaee Ciyes S,>)

(ol 00 ax3 L 0digids 9 00ingS (sl b) sl oot oLl )l 4 (f)l.:_'é) ey aS glaalsl st

A boy and a girl were sitting on a bench. The boy was smiling but the girl looked angry.

the door of the class

The house that Jack built is so beautiful. oo Jyoge dhex o) Jlos 4 oS ol 5lel 0t

shoy dlox

the sun, the moon ... s Slool plial aiile dizwn 0y Blowas glyls a5 olul 3l 3T
ooy rogS andy Lo JUIS o asls-og) clalyys Lo sgilidl) Carpeds yolic o 51 i alolidy 1

the Atlantic, the Red Sea, the Suez Canal, the Amazon ...

the hottest day, the most important ...

losy) 5

:(o)g.':) alusb Syde f"“" L;‘J"Y

losy) 5

of b Sk sl sl 51

L;Lﬂ‘- uLo..o)‘ Lf““” w‘ 05;)0’41

i 0L s ¥ isu 50wl e ) Jle wlae 4 b e Slogs

the second class ...

s ey olael 1 8

s gaze Sy o)Ll sl Solgilspl Hsb yan g colul (Olas 5l gans 5l LB

the rich (olasasyy), the opposition (¢yéllxe), the Richardsons (¢ygws,loy, s5155l)
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the Station Hotel, the Odeon Cinema ... e g dblaiw ojge b ylyst; (o o o5l L3
the Internet, the radio, the newspaper ... to. g deliyg) cguol) e ol (s laeslg) 51 b1
the measles (a0, the flu (Y54l .. H(Ngy 00,50 o0 ()] g andl) Lol sla gylew b5l 31

:3,ls sg>-grepublic skingdom. states la ] o y0 45" laygiS o 51 J3 T
the Islamic Republic of Iran, the United States, the United Kingdom
s o3 aiwl o lai) “the”
WosS c Lyt laoyms ooy liasl (LygtS g Lao)8 alic(o.. g la)lSo g 01,31 sy ol ol 51 31
Asia, Everest, John, New York, ...

)18 oLl cedS a5 1a5 590 ] A5 K
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Health is important to everyone.

ol s Ao (5l Ol

Dolphins are very intelligent.

: IT.Demonstrative Adjectives (o)Lil &ilas) (pas Jlol o) ¢
singular (s,as)—> this (:,2l), that () plural (zo>)—> these (o)), those (L)
this book, that man, these flowers, those children
: III Possessive Adjectives (oSko Olao) (a2 Jlolgup) ¢
I you he she it we you they

my (e Jb)  your (¢ Jb) his (s Jb) her (5l Jb) its (ol Jboy  our (b J)  your (et Jbo)  their (a o) Jb)

his grandparents, their house, our family, your friends

. IV.Quantifiers (lalai cueS)  (pasil Jlsl gup) :
5ot le lales cusS izl 5l (S

Quantifier Meaning Quantifier Meaning

5 fiser oS dlass a lot of ok olaai (ol e
O a little oS lade many b slass
some 3l ¢ 5)lade much @byl

el 00l b 591w pgms 150 0 Gl s bgare SIS g laled e 390 50 5 JolS Silengi

|
AG t : V.Numerals (slscl) (a0 Juo) guy0) ¢

Cardinal Numbers (b sla<l)
one, two, three, four, five, six, seven, eight, nine, ten, eleven, twelve, thirteen, fourteen, fifteen, sixteen, seventeen, eighteen,

nineteen, twenty, twenty one, ... , ninety nine, one hundred, two hundred, ..., four thousand, ..., ten million



| akigEd #55S aat> [ uulSilab

15 o5 Al o> (g oo 00latwl oy leis (gl a5 oKin) (s0le el o ... shundred. thousand. million slael<

three thousands dollars x ten millions people x
three thousand dollars v ten million people v
Ll
millions of = ...}l gobl; golass e laygds thousands of = ... 5| sob; golass ... ollse

Ordinal Numbers (55 slasl)

first (1*), second (2"), third (3'), fourth (4", fifth (5%), sixth (6™), seventh (7™), eighth (8"), ninth (9%), tenth (10"), eleventh
(11™), twelfth (12%), thirteenth (13%), fourteenth (14%), fifteenth (15%), sixteenth (16"), seventeenth (17%), eighteenth (18"),
nineteenth (19%), twentieth (20%), twenty first (21*), ..., ninety ninth (99"), one hundredth (100"), two hundredth (200%), ...,
four thousandth (4000"), ..., ten millionth (10000000%")

o il 5gsly

ol ) eiylas 03 s 9 oy S0 anl b a4 alosr G50 02 bl ()i 5 oy lods dlacl ey ST
The first two questions are really important.

o oo b sl 5 90

: VI.Adjectives (Glao)  (pas bl ooy

1) adjectives (wlo)
an exciting match, a big park, hard-working people
2) noun as modifier (céwo oKl yo ol

office chair()lsl Jass), mountain bike (;luwssS a>,>53), picnic table (oS 500)

( DO{g/o

Jol vty i &3lgaw ( L
@ Becoming . __ astronaut is so demanding that only few people can manage it.
) —— (2)a J3) an (4) the
@ As your father, I always expect .~ honest answer from you.
) —— (2)a J3) an (4) the
@ During the operation, police also arrested . __ 18 year-old man on suspicion of possessing firearm.
l)a—a (J2)an—an (J3)an—a (4)a—an
@ The total amount raised so far approaching two .~ dollars.
1) is — thousand ()2) is — thousands
(3) are — thousand (4) are — thousands

@ In which item “a/an” is NOT used correctly?
1) We decided to start the game a hour later.
2) To work with you is really a unique experience for me.
)3) His mother bought an MP3 player for his birthday.

(4) She was wearing an ugly uniform at the office.
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@ The city was under ..~ French for a long time and the influence still hasn’t worn off.
) —— (2)a (J3)an (4) the
Q) A: Can we meeton 15" or 16™?

B: Sorry, neither date is good for me.

Al — J2) both J3) the 4) this
@ Which item is grammatically correct?

1) They had driven over two thousands miles in that old car in three days.

(2) The experts estimated that the damage will cost thousands of dollars to repair.

3) Don’t worry at all — the chances of anything going wrong are one in millions.

(4) The policy of one child per family was introduced to stabilize the country’s population at 1.6 billions.

9/' Woodis . oldest building material known to man.
)y —— (J2) the (J3)an 4) its

19 He entered ._______ USon_ ... one-year old student visa and Ms. Salehi said he spoke with a heavy French accent.
l)the—a J2) a—the J3) the —an (4) an — the

Q‘I/) Which item is NOT grammatically correct?

“Mr. Wilson has built the new hotel near our school and believes the best time to open it is on the 20" of the April.”

A B C D
U A 2)B 3)C 4)D
1’5 Oh, look at women over there. They’re trying to rob the old man.
1) their (2) there 3) those (4) these
@ When I had the accident, there wereonly .. __ young man and two children in the street. man helped me

out of the car and called the emergency.

(1) the — The (J2)the— A (3)a—-A ()4)a—The
@ Which sentence is NOT grammatically correct?

1) To find the answer, you can search the Internet.

(2) The education and health are the most necessary issues for a society.

(J3) That organization is collecting money for the blind.

(4) You should never look at the sun directly for a long time.

@ People hope the managers of these companies will reach the final agreementin next meeting.
1) there (J2) they’re J3) their (4) these
1 4 7 10 13
2 5 8 11 14



\\!r,

Cloze Test & Reading




Cloze Test

¢ jels Odlgw @ dgfawlg og= :

I watched your recent program and was interested to learn the results of the research you did, I was particularly interested
in your findings about the increased use of computers and the decrease in book reading.

The fact that more young people are using computers is hardly surprising. The development of the World Wide Web has
meant that we can now obtain a wealth of information quickly and easily without leaving our homes. This technological
device is very valuable to students and should, of course, be welcomed. Computers can also be used for easy cheap com-

munication across the world, which has been of much use to millions and brought people closer together. However, there

are reasons why computers can never take the place of books. (V5 71 28)
Q/) ¢)1) made ) 2) took ) 3) set O 4) did
@ U l)is (J2)are (J3)andis () 4) which are
Q/) (1) basis () 2) skill () 3) solution U 4) development
Q/) ) 1) welcome (U 2) be welcomed () 3) be welcoming () 4) have welcomed
Qi) (1) together people closer () 2) closer toghether people
\ () 3) people together closer Q) 4) people closer together J

§ Gz GelS Cnin
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I watched your recent program and was interested to learn the results of the research you did, I was particularly

interested in your findings about the increased use of computers and the decrease in book reading.

The fact that more young people are using computers is hardly surprising. The development of the World Wide
Web has meant that we can now obtain a wealth of information quickly and easily without leaving our homes. This
technological device is very valuable to students and should, of course, be welcomed. Computers can also be used for

easy cheap communication across the world, which has been of much use to millions and brought people closer togeth-

er. However, there are reasons why computers can never take the place of books.

Q) (1) read ()2)toread ) 3) reading () 4) reads

@ 1) hard @ 2) hardly () 3) hardness () 4) hardship

@ 1) possible () 2) countable () 3) probable Q) 4) valuable

@ 1) is welcomed ) 2) be welcomed () 3) are welcomed () 4) being welcomed

@ < 1) why )2) when ¢)3) what () 4) which
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A .
Cloze Test (1) 48 oL,
Like most people, I don’t have much trust in car advertisements whether they’re Audi’s or anyone else’s. . __ @

when I bought an Audi 100LS, I decided to check the results ___ @ I got against what they advertise.

We O together now for 100,000 miles, and I have kept a full record of everything I’ve spent on my car
— right down to the car wax and the polishing cloths. And I can only say that, in my experience, the people at Audi
didn’t tell the whole truth. They claim that the Audi 100 is remarkably _____ @ But nowhere do they tell you that
it needs 20 liters of gas per every 100 kilometers, which is what I’ve averaged over the past five years. But they came a

little closer to the truth when they said that the Audi 100 is ®)

Q/) 1) but 2) 50 3)and 4) yet

@ 1) what 2) who 3) whom 4) which

@ 1) are 2) were 3) have been 4) had been

@ 1) economical 2) gradual 3) practical 4) local

@ 1) available 2) reliable 3) accessible 4) possible

Cloze Test (2) 0 2y

Dinosaurs became extinct about 65 million years ago at the end of the Cretaceous period.

About 707 of all animal life on earth () Scientists call it a mass extinction-it wasn’t the first mass ex-
tinction in earth’s history and it probably won’t be the last!

Having existed for 165 million years, why did dinosaurs die out?

There are many different theories ____ @ this happened. We will probably never find out why, which means
that scientists will continue to disagree and ___ G with different dinosaur extinction theories.

According to one of the theories, now and again, the earth cools into periods which we call ice ages. As dinosaurs

I ,(4), ,,,,, to be cold-blooded, it would have been hard for them _____ ,(5), ,,,,, under such cold conditions.

Q/) 1) died away 2) died down 3) died out 4) died

@ 1) about how 2) how about 3) why about 4) about why

@ 1) give up 2) come up 3) use up 4) turn up

@ 1) have thought 2) had thought 3) were thought 4) are thought

Q/) 1) to live 2) living 3) live 4) lived

Cloze Test (3) 48 sl

Back in the 1990s, when mobiles first appeared, few people asked if there were any health risks. Within a dec-
ade, mobile ownership had exploded, and several groups suggested that overuse of mobiles was dangerous and could
L O an increased risk of cancer. Now, with about five billion users worldwide, there is still no definitive
evidence of this. Still, several governments have told people to limit the time and G of their mobile calls,
and B parents not to allow their children to use mobiles. In fact, health professionals said recently that the

danger to young people had become a mental, not a physical, health . __ @ According to Eric Schmidt, Google’s

39 G
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Part A: Grammar and Vocabulary

Directions: Questions 1-12 are incomplete sentences. Beneath each sentence you will see four words or phrases marked

(1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark your answer sheet. :1
@After breaking his leg in the skiing accident, . to cut short his vacation and go back home. _;':
@ 1) forced ) 2) he forced () 3) that forced () 4) he was forced %
2; | to save the man if I knew how to swim. §
() 1) tried ) 2) will try () 3) would try () 4) had tried
Q) The boss would get mad if you leave early again,so ... ____ ask for his permission first.
1) you should () 2) you might (J3) would you () 4) you are going to
Q_l/) ,,,,,,,, , I have no idea where I would like to vacation this summer.
) 1) I am honest () 2) Be honest ) 3) To be honest () 4) Honest [ am
5; | what I would be doing now in this strange country without your kind help.
() 1) suppose () 2) wonder () 3) prefer () 4) hate
Q) He was absolutely ... , as he was speaking in a language with which I was anything but familiar.
) 1) proud () 2) skillful () 3) monolingual (J4) incomprehensible
@The education offered beyond high school, especially at a college or university, is technically known as .. __
education.
1) higher () 2) creative ) 3) advanced () 4) intermediate
@ We cancelled our camping trip because the weatherman said the .. ______ of heavy rain was very high.
) 1) variety () 2) strength (U 3) beginning ) 4) likelihood
Q/)Jane was not that good at learning languages, so I was surprised to learn she could .~ speak three foreign

languages very fluently.

O 1) widely () 2) actually ) 3) hopefully () 4) necessarily
@I am more on the side of people who ________ health above money; I believe health and happiness have a direct
relationship.
) 1) hang () 2) leave ) 3) value () 4) identify
@ A: How would you .~ Tim?
B: He said he’d have on a red shirt, didn’t he?
(U 1) recognize () 2) remind () 3) discover (U 4) expect
@Julie always says she’ll donate to the school, and she never does, so I doubt she will this year. = , after all.
(1) Actions speak louder than words () 2) Cut your coat according to your cloth
) 3) God helps those who help themselves () 4) Don’t count your chickens before they hatch

Part B: Cloze Text
Directions: Questions 13-17 are related to the following passage. Read the passage and decide which choice (1), (2), (3),

or (4) best fits each space. Then mark your answer sheet.
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ple has wider .. -7 of knowledge, expertise, and skills than any single group .. "7/ is likely to have. Also,
because of the numbers of people involved and the greater resources ..~ " "J , a group can work more quickly in

response to the project they are to get done and can present highly creative solutions to problems and issues.

@ (1) that a team is formed () 2) and so forming a team

(J 3) but forms a team () 4) and form a team
@ 1) offers () 2) to offer (J 3) which offers ) 4) is offered by
@ 1) item () 2) range () 3) means (U 4) function
@ (1) section () 2) mission () 3) member () 4) responsibility
@ (U 1) are available () 2) than they are available

() 3) that are available () 4) which they are available

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four questions. Answer the

questions by choosing the best choice (1), (2), (3), or (4). Then mark your answer sheet.

PASSAGE (1):

The cultural context can also influence life expectancy for men and women. (Life expectancy is the expected length of
a person’s life.) For example, women generally smoke cigarettes less than men, which has been proven to cause many
health problems and to shorten lives.

Another factor that has influenced the lives of women is the lack of stress. Stress is well known to shorten lives. Until
recently, women who worked were usually in less responsible, less stressful positions. At home, housework tends to keep
women in better physical condition than men. This generally better physical condition is yet another factor in women’s
longer lives.

These cultural factors have played an important part for the women who are now getting old. But the social habits of
women are changing. Young women are smoking more than women used to. More women are working now and holding
more responsible positions. These changes may mean that the cultural context will no longer help women live healthier
lives. However, women will continue to live longer than men because of certain other factors.

@ The passage would most probably continue with a discussion of ..
1) why women are no longer willing to stay home and do housework
(J 2) the reasons behind the change in different countries’ culture around the world
(J 3) factors other than cultural factors in relation to women’s living longer than men
(U 4) how a healthy lifestyle is important for both men and women in today’s ever-changing world
@ It can be understood from the passage that the author considers cigarette smokingto .
() 1) become more common among women than it is now among men
() 2) have a relationship with the amount of stress in people’s lives
(U 3) be more harmful to women than to men
(U 4) be a culture-related habit
@ It can be understood from the passage that men can improve their physical conditionby ..
(1) doing housework () 2) giving their jobs to women

() 3) working jobs with more responsibility (U 4) taking better care of their health problems
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@Which of the following statements is TRUE, according to the passage?

() 1) Women in the past did not smoke because it was considered a socially negative habit.

() 2) The difference in life expectancy between men and women is very likely to become smaller.

) 3) Women’s health problems and those of men are similar in terms of both their causes and effects.

() 4) If women realize their health problems are because of their new social roles, they would renew their past habits.
PASSAGE (2):
The advantages or positive points of e-readers certainly seem to be more than the disadvantages. They are light and mobile
devices that can be taken anywhere. Taking one gadget on holiday allows us to take hundreds of novels with us without
having to pay for extra luggage on the plane.

The electronic nature of e-readers gives us so much more than a print copy of a book can do. It lets us read in the
dark (handy in case of a power cut). We can look up unfamiliar words in the in-built dictionary with just one click, we
can make notes, and we never forget what page we were on: the e-reader remembers that for us. If our eyesight declines,
we can make the letters bigger. We can re-read Jane Eyre as often as we like and the book will never look any worse for
it. And even if our taste in books is unusual, nobody need know: others can’t see what we are reading. Not only that,
most e-books are cheaper than their print versions, and many older books can be downloaded for free.

So why have only one in three of us read an e-book? The answer must be that there is something special about the
look, the feel, and maybe even the smell of printed books. “Real” books are objects that have a past and their physical
presence surrounds us with happy memories.

2; The author seems to believe that ..

(1) printed books are here to stay

() 2) everyone will soon be using e-books only

() 3) the digital world has totally changed the publishing industry

() 4) e-books are difficult to use because they require the use of some extra digital devices

@What does paragraph 2 mainly discuss?

() 1) The way e-books have changed people’s reading habits

() 2) The reason why e-books are more fun to read

() 3) The effects of e-books on human health

() 4) The advantages of e-books
2£ The name “Jane Eyre” in paragraph 2 is most probably

(1) an author’s name () 2) abook title

(J 3) an e-reader brand () 4) a text that is difficult to understand
25 What does the word “that” in paragraph 2 refer to?

) 1) making notes () 2) the page we were reading

() 3) the reading act () 4) the meaning of unknown words
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